





TBq

*Fe ><10
Co ><10
%Co ><10
BNi ><10
%8Ge ><10
*Se ><10
o5 =10
106Ry <10
103pq <10
109¢cq ><10
1243 <10
BiCs =10
147pm ><10
153Gd ><10
70T ><10
169y ><10
921y ><10
19%8AY ><10
2047 <10
2190 =10
22Ra =10




#1Am =10

244Cm =10

»2CfF ><10

TBq

H ><10
Be ><10
%Be =10
1c =10
2)g <10
271 <10
g <10
32p <10
33p <10
3g <10
3C| <10
BAr <10
*Ca ><10
“Ca ><10
“°Sc =10
“Sc =10
“Ti =10
By =10
a9y ><10
sicy <10
52\n <10
Mn ><10
*Fe ><10
*Fe ><10
60Fe <10




*Co =10
*Co =10
*8Co =10
Co =10
ONi <10
BNi <10
®7Cu <10
8Zn <10
Ga =10
%8Ge =10
"Ge =10
®As =10
"As =10
®As =10
*Se <10
“Se <10
By <10
sl <10
8Ky <10
%Rb <10
Rb <10
%Rb <10
82g <10
85gy <10
895 <10
90g - <10

o7y =10

By =10

0y =10

oy =10
887y <10
%7y <10
%N =10
%Nb =10
®Nb =10




B0 <10
B0 <10
%1Te =10
%Tc =10
9"Tc =10
%Tc =10
*“Tc =10
YR <10
103p,, <10
106R, <10
%R <10
101pp <10
102 <10

102npp <10
103pg =10
105Ag =10

108mAgy =10

HonAg =10
HMiAg =10
1090 <10

13m0y <10

1504 <10

150y <10

n =10

Hinn =10
1138n =10

17ngn =10

119ngn =10
121ngn =10
1238n =10
1258n =10
1269n =10
122g), <10




124gh <10
1255y =10
1265y =10
217e =10
121nTe =10
1231Te =10
121Te =10
12nTe =10
129nTe =10
132T@ ><10

124) <10

125 <10

126 <10

131 <10
127Xe =10
13inxe =10
133xe =10
BiCs <10
132Cs <10
1¥4Cs <10
136Cs <10
BiCs <10
131Ba <10
133Ba <10
14083 <10
¥ a =10
13Ce =10
141Ce =10
144Ce =10
13py ><10
147INd <10




143pm =10
144pm =10
5P =10
7P =10
148nppy <10
149pm ><10
1459m ><10
1519 ><10
My ><10
M8y ><10
1oy ><10
150y 34.2 ><10
B2y ><10
ey ><10
1S5ey ><10
136y ><10
1654 ><10°
1854 =10 !
155Gd ><10
B1Th ><10
1%8Th ><10
160Th ><10
159Dy <10
166Dy <10
168"Ho =10
169 <10
167y =10
10T =10
T =10
16%vh ><10
1%5Yh ><10




72y ><10
B3y ><10
Ly ><10
1any ><10
Ty ><10
1721 <10
1754 <10
181 <10
19Ta =10
182Ta =10

178y <10

181 <10

185 <10

188y <10
184Re =10
184nRe =10
186Rg <10
1850s =10
1910s =10
1%0s =10
1 =10
190 ¢ <10
192 <10
188pt ><10
oipt ><10
19%3pt ><10
193np ><10
R ><10
1950 <10
1987 <10
1997 <10
194hq <10
1974q <10
203q <10




200 ><10
202T] ><10
2047 ><10
202ppy <10
203ppy <10
210pp =10 !
205Bj =10
206Bjj =10
207Bj =10
210Bj =10
21008 =10 !
210p, =10 ?
222pn, =<10*
223R4 =10 !
2244 =10 !
2254 =10 !
?2°Ra =10
?2%Ra =10
225/ <10
227) ¢ <10
230pg <10
231pg <10
233pg <10
235\ <10
ZNp 1.15><10° ><10
237\p <10
239\ <10
241Am =10
2420Am =10
23Am =10




240Cm =10
241Cm =10
242Cm =10
243Cm =10
244Cm =10
245Cm =10
248Cm =10
247Cm =10
248Cm =10
2478k <10
2498k <10
28CF <10
29CF <10
20Cf <10
BICF <10
e <10
23Cf <10
24Cf <10




